3)

= 1 X x+1
Iff(:r];l 2x x(x—-1) (x+1)x .
Sxlx=]) x =D (x-2) x+1x(x=1)
then f (100) 1s equal to (1999, 2M)
(b) 1 (c) 100 (d) =100 L
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B (o)

If the system of linear equations

X+ y+z=>5

x+2y+2z=6 ~

x+3v+ Az :©[ Aue R), has infinitely many

solutions, then the value of A + u 18
(2019 Main, 10 April 1)

(a) 7 (b) 12
M (d) 9
\ | | *
/ L . D3 - l
3 A l




9* . . .
== The set of all values of A for which the system of linear

equations x —2y -2z =Axx+ 2y+ z=Ayand —x— y=Az, = % W= 57‘23

has a non-trivial solution «* (2019 Main, 12 Jan I1)
(a) contains exactly two elements.
(b) contains more than two elements.

J#7i= a singleton.
(d) 1s an empty set. MO no Uy 6‘7 n

14)
Ly fn el wiomoqenoud  eq
Trivia  gal (nzeyyzey2se) A oludey bherc.

Ly \-A —2+ —1 _ [C\—,ﬂl. :ﬂ

I o2-A ) = O
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S -
) The number of values of 8 € (0, ) for which the system of .

e [

linear equations y
x+3y+T7z=0," D\‘LDZQDS:O]

—x+4y+Tz=07 A
(sin 30)x + (cos 20)y + 2z = 07 _D=o Ceini )
has a non-trivial solution, 1s (2019 Main, 10 Jan 1) Nen-tAd
Mo (b) three (c) four (d) one
\ £ 3 < \
/\ - Y 3 - O L‘l&ﬂ’lb -3&\'\6 -\-\l\\\“‘sbio
Sing 5 9. I

S\‘V\QL Usinle tuuing —3] =

Sund( 295m8-1) (atine +3
— F(-2-1Fsinse) T WA[ - 020 —uima) = DO

‘lx—[z-\q—s_{v\sa —2..(.»519-9&:;&@'1 =0 =

k E Z—(Lﬁg) - (&g'\& - qgnsa)l =0




!
= [If the system of linear equations
x—2v+ kz=1., 2x+ v+z=23x—v—-Fkz=3
has a solution (x, v,2), 20, then M..lieaun the
straight line whose equation 1s < (2019 Main, 8 April 11)
(a) 3x—4v—-4=0 (b) 3x—4y—-1=0
eFAx -3y —-4=10 (d) 4x—3y-1=0

/g T G-

2%t Y + 2 = ‘)_/
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\/THI*'&U :\\(1 w
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H4
2’1'11& system of linear equations
x+y+z=2 2x+3y+2z2=5

2x+3y+(a’-Dz=a+1 (2019 Main, 9 Jan 1) —
z has infinitely many solutions for a = 4 V) N -
1s Inconsistent when a = 4 .;.“_
P& has a unique solution for |a| = /3 ~ Yo
W‘la inconsistent when |al = ﬁ -
—
vy BLRsB )
29 4 32 -ns\'z:, (.
2t 3y t(@D)2 = at] T I ?
=t 2 3 < = {
2 3




Ifo,fz0and f(n)=a” + p" and

3 1+ f(1) 1+ f@)
1+ f(1) 1+ @) 1+ f@®)
1+ f@) 1+fB3) 1+ f@)
= K1 —o0)*(1 —B)* (@ —P) then K is equal to (2014 Main)
(a) of (b) é ©1 (d) -1
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